
ICT in EFL credit test, MA2, 28/01/2011, ver. A 
Circle the best answer 
 
 

1. The only true statement below is: 
(a) The most recent edition of MS Windows operating system is Windows Vista, 
(b) Email has voice plug-ins for real-time voice communication, 
(c) VoIP is the technology used in such communicators as Skype, 
(d) Materials on the internet can be freely copied because they are not copyrighted. 
 
2. According to Michael Wesch, students want: 
(a) relevance of content to their lives, 
(b) no tuition fee, 
(c) watch more TV, 
(d) to be mono-taskers. 
 
3. In a corpus of 100 M words of English, the number of different words (types) could be: 
(a) 4 K, 
(b) 40 K, 
(c) 400 K, 
(d) 4000 K = 4 M. 
 
4. Definition search in an e-dictionary is a search: 
(a) for definitions of word x, 
(b) for the word "definition", 
(c) for the word's etymologies, 
(d) for word x in definitions. 
 
5. The exponential speed of ICT development has inspired: 
(a) Ludd, 
(b) Wesch, 
(c) Kurzweil, 
(d) Turing. 
 
6. Multiple choice exercise format was popular in early CALL software because: 
(a) computers could not display pictures, 
(b) computers could play no sound, 
(c) computers had very limited memory, 
(d) it was easy to program. 
 
7. One type of MT is: 
(a) StS, 
(b) TTS, 
(c) ASR, 
(d) NLP. 
 
Best answers: 1c, 2a, 3c, 4d, 5c, 6d, 7a 
 



ICT in EFL credit test, MA2, 28/01/2011, ver. B 
Circle the best answer 
 
 
1. The skill most taken for granted among the "20 basic technology skills that all educators 
should now have" is: 
(a) computer security knowledge, 
(b) deep web knowledge, 
(c) word processing skills, 
(d) videoconferencing. 
 
2. Awareness of ageism in EFL ICT is important because: 
(a) women and men should be treated equally, 
(b) there are more female teachers than male, 
(c) age highly correlates with ICT skills, 
(d) old people can teach us a lot. 
 
3. POS-tagging e-corpora makes them: 
(a) Practically Operationally Secure, 
(b) harder to read by humans, 
(c) completely transparent syntactically, 
(d) available for on-line searching. 
 
4. According to the 2010 Horizon Report, the non-trend for the next few years is: 
(a) abundance of resources, 
(b) mobility, 
(c) cloud computing, 
(d) virtual worlds. 
 
5. Phonetic access in an e-dictionary is about: 
(a) recording user's rendition of the native model, 
(b) finding words via phonetic transcription, 
(c) displaying/hiding phonetic transcription in the entry found, 
(d) finding individual sounds in the definitions of words. 
 
6. Shuffled dialogue ordering exercise on a ZX Spectrum mainly practiced: 
(a) spelling, 
(b) phonetics, 
(b) syntax, 
(d) pragmatics. 
 
7. Turing test has to do with: 
(a) the exponential growth of ICT, 
(b) the bandwidth of internet connection, 
(c) the Automatic Speech Recognition (ASR), 
(d) Artificial Intelligence (AI). 
 
Best answers: 1c, 2c, 3b, 4d, 5b, 6d, 7d 


